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Hg = H, + (BS), — (FS)z = 100 + 1.469 — 1.351 = 100.118
He = Hp + (BS); — (FS), = 100.118 + 1.185 — 1.500 = 99.803
Hp = He 4 (BS). — (FS), = 99.803 + 1.538 — 1.484 = 99.857
Hg = Hp + (BS), — (FS)z = 99.857 + 1.243 — 1.857 = 99.243
H, = Hg + (BS)g — (FS), = 99.243 + 2.015 — 1.256 = 100.002

AH=f=ZBs—ZFs=7450—7448=2mm

C = Wf = ?2 = —0.4mm - —0.4 x 1073 = 0.0004m
H'g = 100.118 — 1 X 0.0004 = 100.1176m
H'c =99.803 — 2 X 0.0004 = 99.8022m
H'p = 99.857 — 3 X 0.0004 = 99.8558m
H'g = 99.243 — 4 X 0.0004 = 99.2414m
H'p, = 100.002 — 5 x 0.0004 = 100
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D;, = 100(1.025 — 0.432) x sin?(100) = 59.30m
D, , = 100(0.930 — 0.342) X sin?(100) = 58.80m

_59.30 +58.80

| = > = 59.05m

D, 4 = 100(972 — 312) X sin?(100) = 66 m
D4y = 100(0.918 — 0.270) X sin?(100) = 64.80 m
_ 66 + 64.80

D, = 2 = 65.40m
D, 3 = 100(0.942 — 0.360) X sin(100) = 58.20m
D;, = 100(0.865 — 0.285) X sin(100) = 58 m

58.20 + 58
D,=——— " =581m

2

Dy, = 100(0.910 — 0.408) X sin(100) = 50.20 m
D, 5 = 100(0.919 — 0.411) X sin(100) = 50.80 m

50.20 4+ 50.80

YA
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G1,2 = 75‘981650{:{:

G2,1 = Gl’z + 200 = 275g81C50CC
Gaz = Gyq +, 3= 27598150 + 160930°02¢° = 382951¢52%

G3‘2 = 62‘3 - 200 = 182g51C52CC
Gy4 = G35 +05 4= 182951°52¢ + 92935¢50°¢ = 275927°42°¢

64,3 = G3,4 - 200 = 75‘927642“
Ga1 = Gy +04 = 75927642 + 114920648 = 18994830

Slaie el

x; = 1000
y, = 1000

X, = X1 + Dy X sin G, , = 1000 + 59.05 X sin(75981¢50°°) = 1000 + 59.05 x 0.93 = 1054.92m

Y, = y1 + Dy X cos Gy , = 1000 + 59.05 X cos(75981¢50¢) = 100 + 59.05 x 0.36 = 1021.26m

X3 = X + Dy X sinG, 3 = 1054.92 + 58.1 X sin(382951°52°“) = 1054.92 + 58.1 X (—0.26) = 1039.81m
Y3 =Y + Dy X cosG,3 = 1021.26 + 58.1 X cos(382951°52°°) = 1021.26 + 58.1 X 0.96 = 1077.27m

X4 = x3 + D3 X sinG3 4 = 1039.81 + 50.5 X sin(275927°42°) = 1039.81 + 50.5 X (—0.92) = 993.02m

Y4 =Yy3 + D3 X cos Gz 4 = 1077.27 + 50.5 X cos(275927°42°°) = 1077.27 + 50.5 x (—0.38) = 1058.28

x'y = x4 + Dy X sinGyq = 993.02 + 65.40 X sin(189948°30°) = 993.02 + 65.40 X 0.16 = 1003.45m

Y1 =y4+ Dy X cosGyq = 1058.28 + 65.40 x cos(189948°30°) = 1058.28 + 65.40 x (—0.99) = 993.71

Y4
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(K=100, A=(100,100,100), G, = 149.89

o328 s 1y LS i

bk | abis 81:...; omlsb | bwst | Yo | ety | a4l
-]
1 1430 1685 1940 300 8.55
2 1585 1761 1938 300 12.30
3 1585 1775 1965 300 28.39
4 1235 1590 1945 300 25.97
A 1430
5 969 1309 1649 300 41.74
6 1343 1433 1523 300 4473
7 1194 1246 1296 300 05.38
8 1336 1450 1564 300 340
Jo

D, = 100(1.940 — 1.430) X sin? 300 = 51 m

D, = 100(1.938 — 1.585) x sin? 300 = 35.3 m

D, = 100(1.965 — 1.585) x sin? 300 = 38 m

D4, = 100(1.945 — 1.235) X sin? 300 = 71 m

Dys = 100(1.649 — 0.969) x sin? 300 = 68 m

Dse = 100(1.523 — 1.343) x sin? 300 = 18 m

D, = 100(1.296 — 1.194) x sin? 300 = 10.2 m

Dsg = 100(1.564 — 1.336) x sin? 300 = 22.8m

AR

L;éé‘ alold ,_54.3*0[.7;0

S8l aloD = K (U — L) X sin?(V)
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Wb AH = K(U — L) XsinV xcosV + (I — Z)

AH,; = 100(1.940 — 1.430) x sin 300 X cos 300 + (1.430 — 1.685) = —0.255m

AH,, = 100(1.938 — 1.585) x sin 300 X cos 300 + (1.430 — 1.761) = —0.331m

AH, 3 = 100(1.965 — 1.585) x sin 300 X cos 300 + (1.430 — 1.775) = —0.345m

AH,, = 100(1.945 — 1.235) x sin 300 X cos 300 + (1.430 — 1.590) = —0.16 m

AH, s = 100(1.649 — 0.969) x sin 300 X cos 300 + (1.430 — 1.309) = +0.121m

AH, ¢ = 100(1.523 — 1.343) x sin 300 X cos 300 + (1.430 — 1.433) = —0.003 m

AH,; = 100(1.296 — 1.194) x sin 300 X cos 300 + (1.430 — 1.246) = +0.184 m

AHyg = 100(1.564 — 1.336) x sin 300 X cos 300 + (1.430 — 1.450) = —0.020 m

H, = Hy + AH, ; = 100 — 0.225 = 99.775m

H, = H, + AH, , = 100 — 0.331 = 99.669m

Hs = Hy + AH, 3 = 100 — 0.345 = 99.655m

H, = Hy + AH, , = 100 — 0.160 = 99.840m

Hs = Hy + AH, 5 = 100 + 0.121 = 100.121m

Hg = Hy + AH, ¢ = 100 — 0.003 = 99.997m

H, = Hy + AH, ; = 100 + 0.184 = 100.184m

Hg = Hy + AH, g = 100 — 0.020 = 99.980m
Oloi ) Gdmwlxo

G, = 149.89

Guq = 149.89 + 8.55 = 158.44

Gar = 149.89 + 12.30 = 162.19

Gas = 149.89 + 28.39 = 178.28

Gas = 149.89 + 25.97 = 175.86

Gas = 149.89 + 41.74 = 191.63

Gae = 149.89 + 44.73 = 194.62

Gar = 149.89 + 95.38 = 245.27

Gag = 149.89 + 340.00 — 400 = 89.89

Yy
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Xy =%x4+ Dyq XsinGyq =100 + 51 X sin(158.44) = 130.978m
Y1 =Ya+Dyq XcosGyq =100+ 51 X cos(158.44) = 59.487m

X, = x4+ Dy, XsinGy, = 100 + 35.3 X sin(162.19) = 119.754m
Y2 =Ya+ Dyy X cosGy, =100 + 35.3 X cos(162.19) = 70.744m

X3 = X + Dy 3 X sinGy 3 = 100 + 38 x sin(178.28) = 112.71466m
V3 =Ya+ Dy3 X cosGyz =100 + 38 X cos(178.28) = 64.190m

X4 =%x4+Dy4 XsinGy, =100 + 71 X sin(175.86) = 126.281m
Ya=7Ya+DysxcosGyy =100+ 71 X cos(175.86) = 34.043m

X5 = X4 +Dy5 X sinGys = 100 + 68 X sin(191.63) = 108.914m
¥s = ¥4+ Dys X cosGys =100 + 68 X cos(191.63) = 32.586m

Xe = X4+ Dy X sinGye = 100 + 18 X sin(194.62) = 101.519m

Y6 =Ya+ Dy X cosGyg =100 + 18 X cos(194.62) = 82.064m

X7 = X4 +Dyy X sinGy, = 100 + 10.2 X sin(245.27) = 93.342m

Y7 =¥4+Dy7 X cosGy, =100+ 10.2 X cos(245.27) = 92.272m

xg = X4 +Dyg X sinGyg = 100 + 22.8 X sin(89.89) = 122.513m

Yg = ¥4+ Dyg X cosGyg = 100 + 22.8 X c0s(89.89) = 103.605m

Y¢
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